

# We have prepared a quote for you

# Effingham County EMS - GA - (10) V110's

Quote # 007605 Version 1

# Prepared for:

# Effingham County EMS - GA

Terry Mainer tmainer@effinghamcounty.org



## V110 EMS

| Description  |   | Price      | Qty | Ext. Price  |
|--------------|---|------------|-----|-------------|
| 5262GA41C004 | V110 G7 EMS: Hi-Vis Design+Enhanced Cover+Hinge: i5-1235U,<br>WinHello, Win11+16GB RAM, 256GB PCIe SSD, SR Full HD LCD+TS+<br>stylus, Membrane Backlit KBD, WIFI + BT + 4G + Dedicated GPS + PT, HH,<br>USB Type-A x 2 + Type-C x 1 + BCR+Rear Cam, Dual batt, 3 Yr B2B W | \$3,529.00 | 10  | \$35,290.00 |
| GDVNG2       | Gamber-Johnson Vehicle Dock - Port replicator, docking station - for<br>Getac V110  | \$674.00   | 10  | \$6,740.00  |
| GAD2X8       | Getac 120W 11-16V, 22-32V DC Vehicle adapter (Bare Wire), 3 year warranty   | \$99.00    | 10  | \$990.00    |
| Subtotal:    |   |            |     | \$43,020.00 |

### **Havis Mounting**

| Description |   | Price    | Qty      | Ext. Price |
|-------------|---|----------|----------|------------|
| C-MD-112    | 11" Slide Out Locking Swing Arm with Motion Adapter | \$269.00 | 10       | \$2,690.00 |
| C-ADP-101   | Universal Adapter Plate                             | \$50.00  | 10       | \$500.00   |
| Subtotal    |   |          | ubtotal: | \$3,190.00 |



# Effingham County EMS - GA - (10) V110's

## Prepared by:

### Brite

Brandon Proctor 770-714-5176 Fax 585-758-0222 bproctor@brite.com

### Prepared for:

Effingham County EMS - GA 601 N Laurel St

Springfield, GA 31329 Terry Mainer (912) 754-4125 tmainer@effinghamcounty.org

### **Quote Information:**

Quote #: 007605 Contract: Version: 1 Delivery Date: 12/05/2024 Expiration Date: 12/31/2024

## **Quote Summary**

| Description    | Amount      |
|----------------|-------------|
| V110 EMS       | \$43,020.00 |
| Havis Mounting | \$3,190.00  |
| Total:         | \$46,210.00 |

- Agreed upon payment terms: NET 30
- Any changes to the orders after acceptance may result in additional fees.
- Any returns must be accompanied by a return authorization and will be subject to restocking fees.
- Any returns must be approved with 30 days of shipping dates
- All services will be invoiced upfront and efforts debited against the units described above.
- All Professional Services credits are valid for a period of 1 year from time of purchase and shall be planned in advance with a minimum of four (4) week notice period
- All hardware and accessories will be invoiced when shipped.
- All software will be invoiced upon delivery of license.
- All subscriptions will be invoiced when activated.
- Terms and conditions listed within a Master Services Agreement or Statement of Work supersede any listed here.
- Travel costs will be billed separately unless otherwise stated.
- All support is considered manufacturers depot warranty support unless otherwise stated.
- All taxes on this quote are estimated. Appropriate taxes will be calculated and included at the time of Invoice.

Taxes, shipping, handling and other fees may apply. We reserve the right to cancel orders arising from pricing or other errors.

# Effingham County EMS - GA

Signature:

Name:

Date:



# Lease Proposal

### December 4, 2024

| Lessee                                  |
|---|
| Effingham County Board of Commissioners |
| 804 South Laurel Street                 |
| Springfield, GA 31329                   |

### <u>Lessor</u>

Vantage Financial, LLC 101 Falls Road, Suite 405 Grafton, WI 53024

| Equipment Description   | Total Equipment Cost | Term      | End of Term | Payment          |
|-------------------------|----------------------|-----------|-------------|------------------|
| V110's per Quote 007605 | \$46,210.00          | 36 Months | FMV         | \$1,360.00/Month |

### Flex Lease:

Lessee may add, substitute or delete equipment at any time during the lease term.

### **Refundable Security Deposit**

Lessee shall pay the equivalent of one month's payment as a refundable security deposit.

### **Anticipated Delivery**

During the installation period, rent will be charged only on the Equipment accepted by Lessee. Once all of the Equipment is installed and accepted, the lease schedule will commence.

### Fees

Lessor will not charge any documentation, administration or legal fees.

### End of Lease Options

FMV: At the end of the lease term, Lessee may at its option extend the lease, purchase the equipment, or return the equipment based on Lessee's needs at that time.

### **Contingencies**

This proposal, pricing and the Lease Agreement are subject to final credit, equipment, and pricing approval by Lessor and are subject to change. This proposal is not intended to address all of the legal matters relating to the lease. The lease documentation will represent the final legal agreement.

#### **Proposal Expiration:**

January 4, 2024

We appreciate your consideration of Vantage Financial and look forward to partnering with you. Please do not hesitate to reach out to me directly with any questions regarding this proposal.

Sincerely,

Chris J. Lipski, Jr.

262-357-1013 - mobile 920-395-9136 - office clipski@vantagefncl.com

> Vantage Financial 444 Second Street | Excelsior, MN 55331 www.vantagefncl.com